Residual Income Comparison Presented by Dick Cooke - Avanti Marking LLC

Many people asked for this comparison. | hope it helps all of you build your
businesses.

RESIDUAL INCOME

Financial Advisors use the 10 Year U.S. Treasury Bond as a benchmark to
analyze how much money you would need to invest to receive a certain amount
of income.

As an example: to create an ongoing residual income of $100,000. per
year, you would need to invest $2,500,000 in a 10 year U.S.Treasury
Security, presently paying 4%.

The following schedule highlights the equivalent amount of money you
would need to invest to create a similar income stream

Income Comparable Asset Value
Amount needed to create similar income
(Remember this is after tax dollars)

$300. Per month = $3,600. Per year $90,000.00
$600. Per month = $7,200. Peryear  $180,000.00
$900. Per month = $10,800. Per year $270,000.00
$1500. Per month = $18,000. Peryear  $450,000.00
$2100. Per month = $25,200. Per year $630,000.00
$2100. Per week = $109,000. Per year $2,730,000.00
$3600. Per week = $187,200. Per year $4,680,000.00

| don't believe there is a better opportunity for wealth creation available today!



